C:h Division as Repeated Subtraction (Number Line) Name:

Usethe number lineto solve the division problem. Answers

1) 20+5=

4+ttt

2) 24+-6=

3) 32+-8=

A4ttt

4) 28:7=
0 28 7.
4+ttt

5) 35:5=
0 35 S
4+ttt

10.

6) 28+4=

7) 30+6=

8) 32:4=

4+ttt

9) 24+4=

10) 21+7=

4L
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ﬂh Division as Repeated Subtraction (Number Line)

Name:. Answer Key

Usethe number lineto solve the division problem.

1) 20+5=

- emm-——— - .y
- ~ N ~ - ~ - ~
- ~ - .~ - ~ - “a,

Answers

1 4

2) 24+-6=

----------------------------------
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"""""""""

3) 32+-8=
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4) 28:7=

---------------------------
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5) 35+-5=
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6) 28+4=
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7) 30+6=
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8) 32:4=
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9) 24+4=
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....................

[ M ath ] www.CommonCoreSheets.com

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |




C:h Division as Repeated Subtraction (Number Line) Name:

Usethe number lineto solve the division problem. Answers

1) 40+5=
0 40 1

4+ttt

2) 56+-7=

3) 15+5=

4) 28+4=

A
v

5) 35:7=

10.

6) 40+8=

-+

7) 24+4=

¥

<

8) 30:5=
0 30

4+ttt

9) 20:+4=
0 20
4ttt

10) 32+4=
0 32
4+
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Division as Repeated Subtraction (Number Line) Name:. Answer Key
Usethe number lineto solve the division problem. Answers
1) 40:5=
05 b b bbb b b4 1 8
A RO
2 8
3. 3
a. 7
3) 15+5=
0 .® 2 2. 15 R
44—+ o+—+—+—++t++
6. S
4) 28+4=
0 A A A A4 a4 428 n_ B
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8 6
5) 35:7=
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4+ttt
10. 8
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C:h Division as Repeated Subtraction (Number Line) Name:

Usethe number lineto solve the division problem. Answers

1) 20+5=
0 20 1.
<=

v

2) 28+4=
0 28 3
4+t

3) 30:6=

4) 42:6=

4+ttt

5) 48+6=
0 48 .

10.

6) 56+-8=
0 56

7) 24+6=

8) 40:8=
0 40
4+

9) 35:5=

10) 12+4=
0 12
4 t—r—t——+——+—+n
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ﬂh Division as Repeated Subtraction (Number Line) Name:. Answer Key

Usethe number lineto solve the division problem. Answers
1) 20+5=
0 5 . 5.2 4
4ttt
2 7
2) 28+4=
0 -4 -4 -4 4 4 4 4 98 3 3}
44—t
4 7
3) 30:6=
0 6 6 6 5. g 8
4+t
6 7
7 4
8 5
9 7
10. 3
9) 35+-5=
0 =2 2 2 2 2 2 2.
4+ttt
10) 12+4=
0 -4 -4 4 12
—— o+ »
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C:h Division as Repeated Subtraction (Number Line) Name:

Usethe number lineto solve the division problem. Answers

1) 24+6=
0 24 1.
4+ttt

2)35—7:
0 35 3
4+

3) 18+6=

4) 30:6=

5) 15+5=

10.

6) 42:6=

7) 28+7=

A
v

8) 42:7=
0 42

A
v

9) 48+8=

¥

10) 48+6=
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ﬂh Division as Repeated Subtraction (Number Line) Name:. Answer Key

Usethe number lineto solve the division problem. ANnswers
1) 24+6=
o .° 0 i L. 2 L 4
4t >
2 5
3 3
1
4 5
3) 18+6=
0 L. 2. 28 18 > 3
44—t
6 7
4) 30+6=
0 2 8 R 5. %0 R
44—ttt >
8 6
5) 15+5= 6
. 2 2. B °
44—+ o+—+—+—++t++
10. 8

10) 48+6=
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C:h Division as Repeated Subtraction (Number Line) Name:

Usethe number lineto solve the division problem. Answers

1) 56+7=

2) 40+5=

3) 20+4=

4) 42:7=

5) 56+-8=

10.

6) 20:5=

7) 24+4=

8) 32+-8=

9 12+4=

4+t

10) 42+6=
0 42
I et [ : I et | I et | : I et [ : I et | : >

<
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ﬂh Division as Repeated Subtraction (Number Line) Name:. Answer Key

Usethe number lineto solve the division problem. Answers
1 8
2 8
3 )
4 6
5 7
6 4
7 6
8 4
9 3
10, /
6) 20+5=
0 2. 2. 2 2.2
40—
7) 24+4=
o 4 4 4 -4 A 4.2
44—t 0>
8) 32+-8=
o 8 -8 8 8. 3
o
9 12+4=
0 A A A 12
41—+ +—+—+}+ >
10) 42+6=
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Name:

Division as Repeated Subtraction (Number Line)

Usethe number lineto solve the division problem.

Answers

10.

1) 30:6

30

0

4+ttt

2) 32:4

32

0

4+

3) 42:7

42

<|||||||||||||||||||||||||||||||||||||||||||||||||||||>

0

4) 40+5

40

0

4+

5) 408

40

0

<||||||||||||||||||||||||||||||||||||||||||||||||||>

42

4+

6) 42+6
0

7) 48+6

48

0

<|||||||||||||||||||||||||||||||||||||||||||||||||||||||||>

8) 20:4

20

9 20:5

10) 24+4

24
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ﬂh Division as Repeated Subtraction (Number Line) Name:. Answer Key

Usethe number lineto solve the division problem. Answers
1) 30+6=
0 -6 6 -6 6 630 1 2
4+ttt
2 8
3 6
4 8
5 5
6 7
7 8
8 5
9 4
10. 6
8) 20+4=
0 -4 -4 -4 -4 -4 20
4O
9) 20:5=
o .= 2 . 2.2
4t
10) 24+4=
0o -4 -4 -4 -4 -4 424
4ttt
1-10 [90]|80]70|160(50|40|30({20|10| O
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C:h Division as Repeated Subtraction (Number Line) Name:

Usethe number lineto solve the division problem. Answers

1) 24+8=

4+ttt

2) 56+-8=

3) 24+4=

4) 32:4=

4+ttt

5) 48:8=

10.

6) 21+-7=

7) 28+4=

8) 12:4=

9) 28:7=

10) 35:7=
0 35
4+
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ﬂh Division as Repeated Subtraction (Number Line) Name:. Answer Key

Usethe number lineto solve the division problem. Answers
1) 24+8=
0 -8 -8 -8 24 1. 3
G
2 7
3 6
4 8
3) 24+4=
0 A A A A A A —
4t
6 3
4) 32+4=
o4 4 -4 -4 4 4 -4 43 7 7
4t
8 3
9 4
10. =
6) 21+-7=
0 -/ -/ ! 21
44—
7) 28+4=
o & A A A 4 4 48
+—+—— 4ttt
8) 12+4=
o 4 4 412
44—t
9) 28=-7=
0 N - L .. 28
44—t
10) 35:7=
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C:h Division as Repeated Subtraction (Number Line) Name:

Usethe number lineto solve the division problem. Answers

1) 40+5=
0 40 1

4+ttt

2) 28+4=
0 28 3
4+ttt

3) 42+6=
0 42 5.
l
1

4) 56+8=

5) 56+7=

10.

6) 32+4=

7) 35+7=

8) 24+-8=

9) 30+5=

10) 21+7=

4 L
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Division as Repeated Subtraction (Number Line) Name:. Answer Key
Usethe number lineto solve the division problem. Answers
1) 40:5=
05 5 5 5 5 5 5 540 1 38
A+
2 7
2) 28+4=
0 4 A 4 4 4 4 428 3 !
4o
4, 7
5, 8
6. 8
7 5
8. 3
9. 6
10, 3

6) 32:4=

...................................
~~~~~~~~~~~~~~~~~~~~~~

7) 35+7=

------

- - PETT TN PETTTIeS PO TN

- ~ " ~ - ~ i ~ - .
~ - ~ -

. s ~ ] .o - . ~

8) 24+-8=

------------------------------
-------------------
...............

9) 30+5=

- - - PELTY P T
- ~ " - - LJS - . - ~ - .
. ~ . ) g ~ . ~ - ~ .

~ . N . ~ . ~ - ~
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4
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s

10) 21+7=
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C:h Division as Repeated Subtraction (Number Line) Name:

Usethe number lineto solve the division problem. Answers

1) 24+4=
0 24 1
<| 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 >

1 ! ! ! ! I ! ! ! ! 1 ! ! ! ! I ! ! ! ! 1 ! ! ! !

2) 56+-8=

3) 35+-5=

4) 48+8=

D L A o B B e o e e

5) 42+6=

4
as

10.

6) 20:5=

7) 48+6=

A

¥

8) 30:5=
0 30

4+t

9) 28:7=

10) 21+7=
0 21

4L
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Division as Repeated Subtraction (Number Line) Name:. Answer Key
Usethe number lineto solve the division problem. ANnswers
1) 24+4=
0 4 4 4 4 4 4. 2 L 6
4+ttt +—++o
2. /
3, /
4, 6
5, 7
6. 4
7 8
8. 6
9. 4
10. 3

8)

.............................
..............
~~~~~~~~~~~~~~~~~

9)

..................................
..............
,,,,,,,,,,,,,,,

10)

------------------------------------------
....................
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Division as Repeated Subtraction (Number Line)

Name:

Usethe number lineto solve the division problem.

1) 20+4=
0

4

2)

3)

4)

5)

IIIIIIIIIIIIIIIIIIII
32+8=
0 32
4+t
12+4=
0 12
< — —— ———t———
18+6=
0 18
4: I I } I I I I I I I } I I I I I I :>
56+8=
0 56
A

6)

A

42

A

7)

8)

56

42

9)

>

10)

10.

Answers
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Division as Repeated Subtraction (Number Line) Name:. Answer Key
Usethe number lineto solve the division problem. Answers
1) 20+4=
o .= 4 o A Y L 2
O
2 4
3 3
H A
4 3
3) 12+4=
o .4 A a2 > !
— oL
6 6
4) 18+6=
0 .8 R 5. 18 —
4—r ot
8 7
9 5
10. 3

9) 40-8=
o .8 8 8 L 8.4
4ttt
10) 15:5=
0 2. 2. - 15
44—t
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